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Fig. 10 has been tipped up on edge (Fig 12)
less work is required to tip it back again For
this reason the stone is said to be more stable
in the first position than in the second. The
reason for this appears from a study of the two
figures, 10 and 12. In order to tip it up on end,
Its center of gravity had to be lifted through
the difference ,n level ab (Fig. 10); but in order
to tip ,t back again, its center of gravity had f.c. n
to be raised through the smaller difference in level cd (Fig. 12).

The stone in Fig. 13 has
the same volume and weight
as the other, but its base is
twice as large and its center
of gravity half as high. When
lying flat, it is more stable, but

/ when on end it is less stable
than the other. In order to
tip it up on end, the center of
gravity must be lifted through
the larger difference in level
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8. How Gravity Acts. When you stretch a rubber


